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QUESTION 1

What best describes the type of packets used by OSPF routers to exchange updates on a pointto-point link? 

A. IP packets sent to an IP multicast address. 

B. Ethernet frames sent to an Ethernet multicast address. 

C. IP packets sent to an IP unicast address. 

D. UDP packets sent to an IP multicast address. 

Correct Answer: A 

 

QUESTION 2

In a Layer 2 encapsulation using T-LDP, what does the second (bottom) label represent? 

A. Tunnel Label 

B. VC Label 

C. Operational Control Word 

D. VPI 

E. VCI 

Correct Answer: B 

 

QUESTION 3

Static routing will be used in a network between a corporate head office, with many connected networks, and a branch
office, with one connection to the head office. Which of the following best describes the likely configuration? 

A. The corporate head office router will have a default route and the branch site will have a more specific static route. 

B. The corporate head office router and the branch office router will both have specific static routes. 

C. The corporate head office router and the branch router will both have default routes. 

D. The corporate head office router will have a more specific static route and the branch office router will have a default
route. 

Correct Answer: D 

 

QUESTION 4

Which of the following is a characteristic of LDP Hello messages? 
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A. They are multicast to the All Hosts address. 

B. They are broadcast to the subnet broadcast address. 

C. They are multicast to the All Routers address. 

D. They are broadcast or multicast, depending on the physical media. 

Correct Answer: C 

 

QUESTION 5

Which MPLS mode saves only active label mappings received from peer LSRs? 

A. Conservative label retention 

B. Liberal label retention 

C. Downstream on demand 

D. Downstream unsolicited 

Correct Answer: A 
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